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Tabulate(F: (Code — D) — (Code — D), C: Code)
T,T": Code — D;
begin
VC; of C : T(Cs) :==T'(Cs) := Lp;
repeat
T :=T;
YC; of C : T(Cy) := F (M. T(x)) Cy;
until T C T’ (* no more increase *)
end

Figure: 2 H & 9l
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jons) &i1E| &
rklist algorithm)

Tabulate@(]}: (Code — D) — (Code — D), C': Code)
T,T": Code — D;

d: D:
begin
VCZ OfC : T(Cl) = T/(Cl) = J_ﬁ;
repeat
T :=T;
VC; of C:

d:=F A& T(x)) Ci;
if d ,Z T’(CZ) then T(CZ) = T/(CZ) \V4 d
until T C 7" (* no more increase *)

repeat

T =T,

VC; of C: T(Cy) := T'(Cy) A F (M. T(x)) Cs;
until 7" C T (* no more decrease *)

end
Figure: 22X 2ol g3 B dyeE5: ZAHH}
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VC; € C : T(Cy) := F (\e.T(z)) C;
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Tabulate(F: (Code — D) — (Code — D), C: Code)
T: Code Hf), y: ﬁ, W 2Cede 4. Code

f(c: Code): D

begin
record that evaluation of w requires that of ¢;
return T'(c)

begin
VQ of C: T(Cl) = T/(OZ) = J_L");
WCZ{CI"Cl'GC}

repeat
w := Select(WW)
y:=Ffw
if y £ Ty (w) then
T(w):=y
Vw' whose evaluation needs that of w :
W = Add(W,w")
until W = {}
end
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Tabulate(F: (Code — A — B) — Code — A — B, C: Code, ag: A)

Ta,T)y: Code — A:
T, Tp: Code — B;
f(c: Code) (a: A) : B
begin
Ta(c) :=Ta(c)Ua;
return Tp(c)

end

begin
VCZ of C: TA(CL) = L/a, TB(CI) = J‘B;
Ta(C) = ao;
repeat

(T, Tp) = (Ta, TB);
VC; € C: Tp(C) := F f C; (Ta(Ch));
until (T4 C T;‘) A (T C Tiﬂ)
end
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Tabulate(F: (Code — A — B) — (Code — A — B), C: Code, ag: A)
Ta: Code — A, Tg: Code — B, W:200de . Code, y: B

f(c: Code) (a: A) : B
begin
record that evaluation of w requires that of ¢;
if (a Z Ta(c)) then
Ta(c) = Talc) Ua;
W := Add(W, c);
return Ts(c)
end
begin
VC; € C:Ta(Cy) := L4, Tp(Ci) := Lg;
Ta(C) :=a9; W:={C;|C;eC}
repeat
w :=Select(W); y:=F fw (Ta(w))
if y Z Tp(w) then
Tp(w) :=y;
Vw' whose evaluation needs that of w :
W := Add(W,w')
until W = {}
end
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